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AN 1.(i) Te e o= & e fafe ?
Write the characteristics of inertial frame of reference.
. (if) BRI & Hig T SIAT forflae 1
Write down anyone application of Focault's Pendulum.
(1i1) ?Elﬂqﬁi T 319 41 g9=1d & ? What do you mean by tlme-dllatlon
(iv) sfarer 3 fafire Rl oo SRR RifT ?
Write down fundamental postulates of special theory of relativity ?
(v) Sifert & fastoa 7ories &t i &R ?
Define quality factor of an oscillator ?
(vi) ARTHAT 7 ST R T @ 7

What is significance of 'resonance’ in oscillations™?

(vii) FR-3T | S F1 T & ¢ Whatdo you mean by phase Velomty ? "“

_ (vm)wﬁtﬁuwnﬁrﬁwwwﬁmwaﬁw ?
- Write a general differential equation of one dimensional wave motlon ?
(ix) 9T & Gt Sore-gare Se-a1 & ? I A i
~ Which is the most elastic substance in nature ? Write its name.
(x) gffa Ros 3t afy <t aieneer fifaa |
* Write down the equation of motion of a rotating body ? '
a (9) 78 - L 2(@)Tﬁaaﬁwﬁmﬁvawmwmwmm
T shifeg ? Obtain an cexpression for coriolis force acting onamoving object
in rotating frame of reference? . : 37T / OR
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A fotating frame of reference S'is rotating with angular velocity w with
respect to statlonary frame of reference S around Z axis. If co-ordinate of a

point in frame S-are (x,y,z), then find the transformation equation of co--

ordinates & velocity in rotating frame of reference S'.
s - I1.3. (a)a?ﬁmmwaﬁméﬁwaﬁmw lExplam
addition of velocities with the help of Lorentz transformation?  RET/OR.
() FoAHI -t el e 1 e AR e SRR Sel-e
faffaw | Derive Mass-energy equivalence relation & write the relativistic
energy-momentum relation ?
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A body of mass m is held between two identical springs of spring
constant K as shown in figure. Find the frequency of its longitudinal

oscillation< ?
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Write down the equation of motion of a damped oscillator. Find its
displacement as a function of time for under damped case.
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Derive expression for speed of longitudinal waves in a fluid. 3gar /OR

(=) Pt et g O T Tl O SR Al 9 QT T 1 g i |
Derive the wave velocity for transverse waves ona uniform stretched string.
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Define angular momentum. Find out the expression for angular

momentum of a system of particles with respect to angular momentum of
centre of mass. | | gqar/OR -
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Define young's modulus (Y), Bulk modules and poisson's rati (o
derive an expression Y=3K (1-2g), . .
T 2R A AR |

Explain the two dimensional elastic collis; rwo particles in
both the laboratory & centre of mass frame o fr':}z’;‘egs;\;veen . P
| rzqm(h) 2,4'32};;1:{;531%@ T B 5o 3 (2,2,2) farg W3 1 @ 8T
) Ceftz]:)fmass ?fathq: i ﬁB ™ %, ﬁﬁ’ (0,0,0) 9T T S i

€€ particles of masses 2,4,6 gm is (2,2,2). When an

other particle of mass 8 gmis kept tope : mass
become (0,0,0) find the position Ofthga ttl?aeriivgll;h them then the centre Of

q—gagm | ;frflain the Wm* il IHIY <1 g4 b T o
. hotery orking of Michelson-Morleys's experiment 2"
discuss the signi 1ca11ceofnegati\zeresu]t n-Morleys's exp
s. -
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Establish the differential equation of a forced harmonic oscillator and
solve it. Discuss the different cases including resonance ?

10. (i) G ot o & ? g R ol & A S i |

What is Fourier's series ? Calculate various Fourier's coefficients.

(ii) Th SRI-a=dl a1 & 1 FRYA A7 & DT |

Obtain Fourier series for saw-tooth wave. |
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Derive an expression for couple requ1red to twist a uniform solid-

mettalic Cylinder by an‘angle 6. Prove that hollow-mettalic shaft is stronger

than solid shaft of same mass, length and material.
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